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HiZ 1

JIE
bt 4 e et | O e k|
3 TEER L= | RL—7 (IDR) |[# 3, 500 1, 600 1| K| 5.60
2 il == FL—7 () |& 3, 200 1,900 | 10 | K| 60.80
2 fif = L —2 7= 3, 200 1,890 | 10 | K| 60.48
2 fif == Ay = 2, 300 2,300 | 10 | KA | 52.90
2 4 K= (2) NL—7 (L) [# 4, 400 1, 900 1| K| 8.36
2 4 JR=E (2) L —2 7= 4, 400 1, 890 1| K 8.32
2 4 JR=E (2) Avva an) 6, 100 2, 300 1| KA | 14.03
2 4 K= (2) A a 4] 4, 600 2, 300 1 [ XF| 10.58
2 4 JR=E (2) Ava an) 2, 800 2, 300 1| R 6. 44
2 4 JR=E (2) Awa f1:97 3, 400 2, 300 2 | Kh| 15.64
2 4R =E (1) (3) NL—7 (L) [# 5,900 1, 900 2 | K| 22.42
2 4PRE (1) 3)  |[L—=x 7 5, 900 1, 890 2 | K| 22.30
2 4R (1) 3) | Avv=a (ans| 3, 400 2, 300 8 | Kh| 62.56
2 4R =2 (1) (3) A a 4] 2, 800 2, 300 4 | KA | 25.76
2 4R = (4) NL—7 (L) [# 6, 400 1, 900 1| RKifg| 12.16
2 4R = (4) L —2 7= 6, 400 1, 890 1| K| 12.10
2 4R EE (4) Ava an) 3, 400 2, 300 4 | KA | 31.28
2 4PR = (4) A a 4] 2, 800 2, 300 2 | KA | 12.88
2 BF AL Ty U — Y] 3, 000 2, 300 1| R 6. 90
2 Yo i A< Ty U — = 1, 300 2,400 3| KA | 9.36
2 R—L NL—7 (R [# 2, 400 1, 870 LKA 4.49
2 AR—L L — 7= 2, 400 1, 860 1 | KA 4. 46
2 R—L NL—7 (L) [# 2,900 1, 870 1| XA 5.42
2 A—L L — = 2, 900 1, 860 1 | KA 5.39
2 R—L NL—7 (R [# 1, 600 1, 870 1| XA 2.99
2 A—L L — = 1, 600 1, 860 1 | KA 2.98
2 R—L NL—7 (L) [# 1, 300 1, 870 1| XA 2.43
2 A—L L — = 1, 300 1, 860 1 | KA 2. 42
2 Feva—F— | FL—7 () |[#& 2,900 2, 650 1| XA 7.69
2 Fnwa—F— [L—2A = 2, 900 2, 640 1 | KA 7.66
2 Wk —7F— |FL—7 @) & 2,900 2,500 1| XA 7.25
2 o —F— |[L—2x = 2,900 2,490 1| KA 7.22
2 fiE = Avva AR 2,300 2, 300 3| K| 15.87
2 L —F— | Ay = 141 3, 400 1, 900 1 | KA 6. 46
2 i a—F— | Ay a an) 5, 400 2, 300 1| K| 12.42
2 iE KFL—7 (YY) |& 3, 200 1, 900 1| Kifj| 6.08
2 =R L —2 7= 3, 200 1, 890 1| RKifj| 6.05
2 A= KNL—7 (YY) |[& 3, 200 1, 900 5 | K| 30.40
2 fif = L —2 7= 3, 200 1, 890 5 | K| 30.24
2 i == Ay = 2, 300 2,300 5 | KA | 26.45
I —7 &t 100 | - | 655.24
a—)LA7 ) —F 0| - 0




HiZ 1

ZafE
s %4 ik et | O e |
1 HmLEE @RS |(Avia 1Y) 4, 500 2, 750 6 | KA 74. 25
1 MfuEs (g (X via 47 2, 500 2, 750 2 | Ki 13.75
1 2522 (1) Ay iR 2, 000 2, 350 NN 4.70
1 PEEE (2) Ayva -4 2, 000 2, 350 1| Rk 4.70
1 2532 (3) Ay iR 2, 000 2, 350 1| KA 4.70
1 RLEES | A v -4 1, 900 2, 500 1| KA 4,75
1 18 Ay o 1Y) 1, 300 2, 000 1| Rh 2. 60
1 RMLE =L | A v -4 3, 300 2, 350 NN 7.76
2 {2242 RL—7 (i) [# 3, 000 2, 250 1| Kl 6. 75
2 fE=£242 L —2= = 3, 100 2, 240 1| Kl 6. 94
2 {2242 Ay iR 2, 000 2, 350 NN 4.70
2 fE==241 NL—7" () |& 3, 000 2, 250 1| K 6. 75
2 il =g241 L—2 7= 3,100 2, 240 1| Rl 6. 94
2 fE=8241 Ayia 1Y) 2, 000 2, 350 1| KA 4.70
2 #2240 NL—7 (i) [# 3, 000 2, 250 1| Kl 6. 75
2 =240 L —2= = 3, 100 2, 240 1| Kl 6. 94
2 fE =240 Ay iR 2, 000 2, 350 NN 4.70
2 E=£239 NL—7" () |& 3, 000 2, 250 1| K 6. 75
2 28239 L—2 7= 3,100 2, 240 1| Rl 6. 94
2 E=8239 Ayia 1Y) 2, 000 2, 350 1| KA 4.70
2 MFICU238 FL—7 () & 4, 200 2, 250 INPN] 9. 45
2 MFICU238 L—2 7= 4, 200 2, 240 1| R 9.41
2 MFICU238 Ayva 4] 2, 000 2, 350 1| R~ 4,70
2 MFICU237 NL—7" () |& 1, 850 2, 250 1| K 4.16
2 MFICU237 FL—7 () & 1, 850 2, 250 INPN] 4.16
2 MFICU237 L —2= = 1, 850 2, 240 2 | Xl 8.29
2 MFICU237 Ayva 4] 2, 000 2, 350 1| R~ 4,70
2 MFICU236 NL—7" () |& 4, 200 2, 250 1| K 9. 45
2 MFICU236 L—2 7= 4, 200 2, 240 INPN] 9.41
2 MFICU236 Ayia Y] 2, 000 2, 350 1| KA 4.70
2 MFICU235 FL—7 () & 4, 200 2, 250 INPN] 9. 45
2 MFICU235 L —2= = 4, 200 2, 240 1| Kl 9.41
2 MFICU235 Ayva 4] 2, 000 2, 350 1| R~ 4,70
2 MFICU234 NL—7" () |& 1, 850 2, 250 1| K 4.16
2 MFICU234 FL—7 () & 1, 850 2, 250 INPN] 4.16
2 MFICU234 L —2= = 1, 850 2, 240 2 | Xl 8.29
2 MFICU234 Ayva 4] 2, 000 2, 350 1| R~ 4,70
2 MFICU233 NL—7" () |& 4, 200 2, 250 1| K 9. 45
2 MFICU233 L—2 7= 4, 200 2, 240 INPN] 9.41
2 MFICU233 Ao 4] 2, 000 2, 350 1| KA 4.70
2 #2232 NL—7" (i) [# 4, 200 2, 250 1| K 9.45
2 fE=£232 L —2= = 3, 100 2, 240 1| Ky 6. 94




i)

B2 Y Tk

W& =4 kg Bt 5 i (T X ) B | TPk T FH
2 fE=£232 Ao 4] 2,000 2, 350 1| KA 4.70
2 fE==231 NL—7 (k) & 4, 200 2, 250 1| Kif 9.45
2 ff=£231 L —2= = 3, 100 2, 240 1| Kl 6. 94
2 fE =231 Ay iR 2, 000 2, 350 NN 4.70
2 A =2221 NL—7" (G |& 3, 000 2, 250 1| K 6.75
2 fi=g221 L—2 7= 3, 000 2, 240 1| Rl 6. 72
2 fE=221 Ao 4] 2,000 2, 350 1| KA 4.70
2 {E==222 NL—7" (k) & 3, 000 2, 250 1| K 6. 75
2 fE=£222 L —2= 7= 3, 000 2, 240 1| Ky 6. 72
2 &l =222 Ay iR 2, 000 2, 350 NN 4.70
2 22223 NL—7" () |& 3, 000 2, 250 1| R 6. 75
2 ff=£223 L—2 7= 3, 000 2, 240 1| Kl 6. 72
2 f&=223 Ao 4] 2,000 2, 350 1| KA 4.70
2 fE==224 NL—7" (k) & 3, 000 2, 250 1| K 6. 75
2 =224 L —2= 7= 3, 000 2, 240 1| Ky 6. 72
2 fEl=E224 Ay iR 2, 000 2, 350 1| KA 4.70
2 #=2225 NL—7" () |& 3, 000 2, 250 1| R 6. 75
2 ff=£225 L—2 7= 3, 000 2, 240 1| Kl 6. 72
2 fE=£225 Ao 4] 2,000 2, 350 1| KA 4.70
2 #2226 NL—7" (k) |& 3, 000 2, 250 1| K 6. 75
2 E=2226 L —2= = 3, 000 2, 240 1| Kl 6. 72
2 fEl=E226 Ay iR 2, 000 2, 350 NN 4.70
2 #22230 NL—7" () |& 3, 000 2, 250 1| R 6.75
2 28230 L—2 7= 3, 000 2, 240 1| Rl 6. 72
2 fE=£230 Ao 4] 2,000 2, 350 1| KA 4.70
2 fE==229 NL—7 (k) & 3, 000 2, 250 1| K 6. 75
2 fE=£229 L —2= = 3, 100 2, 240 1| Kl 6. 94
2 #2229 Ay iR 2, 000 2, 350 1| KA 4.70
2 A =2228 NL—7" () |& 3, 000 2, 250 1| R 6. 75
2 ff=£228 L—2 7= 3,100 2, 240 1| Kl 6. 94
2 fE=228 Ao 4] 2,000 2, 350 1| KA 4.70
2 E==227 NL—7 (k) & 3, 000 2, 250 1| K 6. 75
2 ff=£227 L —2= = 3, 100 2, 240 1| Kl 6. 94
2 fE =227 Ay iR 2, 000 2, 350 NN 4.70
2 FERHRARE=R |FL—7 () |& 6, 000 2, 250 1| Kl 13. 50
2 PERRARES |FL—7 () |& 4, 500 1, 950 1| Kl 8.78
2 ALiE = (1) Ao 4] 2, 600 1, 700 1| KA 4,42
2 ALiE = (1) Aya 1Y) 5, 000 2, 350 1| R 11.75
2 [l = Awyia 191 2, 000 2, 350 1| KA 4,70
2 [Al1 = AvyTa 1Y) 5, 000 2, 350 1| R 11.75
2 % B W53 Ao a7 1, 800 2, 350 1 | KA 4.23
2 ZHMBZERE |FL—7 (X)) [y 2, 200 2, 200 1| KA 4.84
2 % HIN2%E Ao w2l 3, 300 2, 350 1| KK 7.76
2 ZHMRERE |Avia ans| 2, 600 1, 700 1| KA 4. 42




i)

B2 Y Tk

W& =4 kg Bt 5 i (T X ) B | TPk T FH

2 PERE Ay a 1Y) 2,200 - 1,850 2 | KA 8. 14
2 PEE NL—7" (i) [8) 2,200 + 2,200 NN 4. 84
2 PERE Ay a 1Y) 2,600 - 1,700 1| Rh 4. 42
2 NST Ay va 4] 2,500 - 2,350 1| R 5.88
2 FB#ELST 42 | FL— 4] 2,400 - 1,900 1| KA 4. 56
2 BhEEmst R | L— AR 2,100 - 1,850 2 | Khi 7.77
2 BhpERs R | L— -4 1,800 - 1,850 1| Rk 3.33
2 BhEEmst R | L— AR 3,500 - 1,850 1| KA 6. 48
2 LDR244 NL—7" () |& 1,900 - 2,250 1 | KA 4,28
2 LDR244 FL—7 () |[&® 3,000 - 2,250 INPN] 6. 75
2 LDR244 Ao 4] 2,500 - 2,350 1| KA 5.88
2 LDR244 FL—7 () |[& 1,900 - 2,070 1| R 3.93
2 LDR244 L —2= = 1,900 -+ 2,060 1| KA 3.91
2 LDR244 L—2 7= 3,000 - 2,240 INPN] 6.72
2 LDR244 L —2= 7= 1,900 -+ 2,060 1| KA 3.91
2 LDR244 n—LVA7 ) — | 1,310 + 2,100 2| - 5. 50
2 LDR243 NL—7" () |& 5,000 + 2,250 1| K 11.25
2 LDR243 Ay va 1Y) 2,500 - 2,350 1| R 5.88
2 LDR243 NL—7" () |& 1,900 - 2,070 1 | KA 3.93
2 LDR243 L—2 7= 1,900 -+ 2,060 1| Rh 3.91
2 LDR243 L—2 7 5,000 - 2,240 1| R 11.20
2 T HEAE Aya 4] 1,300 - 2,000 2 | Riy 5. 20
2 TFREKE | Avva 191 1,300 - 2,000 2 | Ri 5.20
2 = 0—/LA7 Y — | T 1,360 -+ 2,000 2| - 5. 44
2 ALy TIRKHE (A vy = 1Y) 1,600 - 2,350 1| Rh 3.76
3 4REE330 NL—7 (L) |[# 3,000 -+ 2,250 1| Kl 6. 75
3 4R 2330 Ao 4] 3,700 - 2,350 1| KA 8.70
3 4PREE330 NL—7 (L) [# 3,000 - 2,250 1| Kl 6. 75
3 4R 32330 Ayia 1Y) 6,300 - 2,350 1| Rh 14. 81
3 4REE330 NL—7 (L) |[# 3,000 -+ 2,250 1| Kl 6. 75
3 4R 32330 Ayia 1Y) 6,000 - 2,350 1| Rh 14. 10
3 4R 38330 Ay va 4] 2,700 - 2,350 1| R 6. 35
3 #2329 NL—7" () |& 3,000 - 2,250 1| R 6. 75
3 fE=2329 Ay va 4] 3,700 - 2,350 1| R 8.70
3 4R =321 NL—7" () |& 6,000 - 2,250 1| K 13. 50
3 4R 321 Ay va 4] 5,300 - 2,350 4 | KA 49. 82
3 4PR=E321 a—/L A7 J—|fix%& 750 910 21 - 1.37
3 4R 321 n—/)LA7 ) — B FFix 390 910 2| - 0.71
3 4PR =322 NL—7" () |& 6,000 -+ 2,250 1| K 13. 50
3 4R 38322 Ay va 4] 5,300 - 2,350 4 | KA 49. 82
3 4PR=E322 2—/L A7 J— 2 fix%& 750 910 2| - 1.37
3 4R 38322 n—/)L A7 ) — BT Fix 390 910 2| - 0.71
3 4R =328 NL—7" () |& 6,000 - 2,250 1| K 13. 50
3 4R 32328 Ay va 1Y) 5,300 - 2,350 4 | KA 49. 82




i)

B2 Y Tk

W& =4 kg Bt 5 i (T X ) B | TPk T FH
3 4R 22328 a—/L A7 J— 2 fix%& 750 910 21 - 1.37
3 4R 32328 n—L A7 ) — | FfixZE 390 910 2| - 0.71
3 4R =327 NL—7" () |& 6,000 - 2,250 1| K 13. 50
3 4R 3327 A 4] 5,300 - 2,350 4 | KA 49. 82
3 4R 28327 2—/L A7 J—|fix%& 750 910 2| - 1.37
3 4R ER327 n—L A7 ) — | FfixZE 390 910 2| - 0.71
3 RE1-28323 KL—7 () [& 3,000 - 2,250 1| Kl 6.75
3 128323 Ayva 4] 1,900 - 2,350 1| R~ 4,47
3 RE1-28324 KL—7 () [#& 3,000 - 2,250 1| Kl 6. 75
3 BE7-28324 Ayva 4] 1,900 - 2,350 1| R~ 4,47
3 RE7-28325 KL—7 () [& 3,000 - 2,250 1| Kl 6. 75
3 FE1-28325 Ayva 4] 1,900 - 2,350 1| R~ 4,47
3 RE1-28326 KL—7 () [#& 3,000 - 2,250 1| Kl 6.75
3 128326 Ayva 4] 1,900 - 2,350 1| R~ 4,47
3 FLAN—n | FL—7 (GEL) % 6,400 - 1,860 1| R 11.90
3 TrAN—5 | FL—7 () |& 5,400 - 1,910 1| Kl 10. 31
3 FLAN—n | FL—7 (GEYL) % 1,950 - 1,910 1| R 3.72
3 i AP Aya 1Y) 1,700 - 2,300 1| R 3.91
3 CCU(1) Ay a 1Y) 9,500 - 2,450 1| KA 23.28
3 CCU(2) Aya 1Y) 9,500 - 2,450 1| Rh 23. 28
3 CCU(3) Ay a 1Y) 9,500 - 2,450 1| KA 23.28
3 CCU (4) Aya 1Y) 9,500 - 2,450 1| R 23. 28
3 CCU(5) Ay a 1Y) 9,500 - 2,450 1| KA 23.28
3 CCU(6) Aya 1Y) 4,500 - 2,450 1| Rh 11.03
3 HCU (1) (2) Ay a 1Y) 3,600 - 2,450 1| KA 8. 82
3 HCU (1) (2) 2—/L A7 J—|fix#& 1,190 - 1,200 3| - 4. 28
3 HCU (1) (2) 0—L A7 Y — |Fix%E 1,120 - 1,200 1| - 1. 34
3 HCU (3) Aya 1Y) 9,000 - 2,450 1| Rh 22. 05
3 HCU (4) Aya 140 9,000 - 2,450 1 | KA 22.05
3 HCU (5) Aya 1Y) 9,000 - 2,450 1| R 22. 05
3 HCU (6) Aya 140 3,800 - 2,450 1 | KA 9.31
3 RoNEEY | FL—r 1Y) 1,800 - 1,800 1| R 3. 24
4 HIgv gEemfE= | FL—7 (%) |& 5,000 - 1,860 2 | Kl 18. 60
4 AT 52 | A vy a iR 2,700 - 2,350 NN 6. 35
4 FiffR— L (EEE) | A v a 4] 5,200 - 2,350 2 | KK 24. 44
4 FfiA— L (R [A v a 4] 5,600 - 2,350 1| R 13. 16
4 FLAN—n | FL—7 (GESL) % 6,000 - 1,980 1| R 11.88
4 TrAN—5 | FL—7 () |& 5,500 - 1,980 2 | Kidi 21.78
4 FLAN—n | FL—7 (GEYL) % 3,200 - 1,850 2 | Kl 11.84
4 FIEHAE TR | Ay va 4] 3,500 - 1,900 1| R~ 6. 65
4 JUNTERE = Ao 4] 5,000 + 2,350 1| KA 11.75
4 BRER -4 (Avva iR 1,300 -+ 2,350 2 | Khi 6.11
5 ICU(1) Ay a 40 9,500 - 2,450 1 | KR 23.28
5 ICU(2) Aya 1Y) 9,500 - 2,450 1| Rh 23. 28




i)

B2 Y Tk

W& =4 kg Bt 5 i (T X &) B | TPk T FH
5 ICU(3) Aya 40 9,500 - 2,450 1 | KR 23.28
5 ICU(4) Avya 1Y) 5,000 - 2,450 1| R 12. 25
5 HCU (1) Aya 140 9,000 - 2,450 1 | KA 22.05
5 HCU (2) AvyTa 1Y) 9,000 - 2,450 1| R 22. 05
5 HCU (3) Aya 140 9,000 - 2,450 1 | R~k 22.05
5 HCU (4) Avyia 1Y) 9,000 - 2,450 1| Rh 22. 05
5 HCU (5) Aya 40 9,000 - 2,450 1 | R~k 22.05
5 HCU (6) Avya 1Y) 9,000 - 2,450 1| Rh 22. 05
5 HCU (7) Aya 140 3,800 - 2,450 1 | KR 9.31
5 HCU (8) 02—V A7 — | FixE 1,090 910 2| - 1.98
5 HCU (8) 0—L A7 Y — |Fix%E 990 910 1| - 0. 90
5 = FL— AH 1,200 - 1,800 NN 2.16
5 BERE=R | TL— N 1,200 - 1,800 1| KA 2. 16
5 EAREE [Avia= 1Y) 1,400 - 2,350 1| Rh 3.29
5 R BEARE |[Avia N 4,500 -+ 1,600 1| KA 7.20
5 R BHAE ([ Avia N 2,700 - 1,600 1| Rh 4. 32
5 PICU (1) Ao w2l 9,500 - 2,450 1| KA 23.28
5 PICU (i) Ay iR 9,000 -+ 2,450 NN 22. 05
5 PICU (1) Ao w2 5,000 - 2,450 1| KA 12. 25
6 FLANA—n |RL—7 () |& 5,000 -+ 2,130 1| Rl 10. 65
6 E=2638 NL—7" () |& 3,000 - 2,250 1| K 6. 75
6 #2638 Ay iR 3,500 + 2,350 NN 8.23
6 fE=£638 0=V A7 J— | FixE 750 910 2| - 1.37
6 4PREE637 NL—7 (i) [# 6,000 - 2,250 1| Kl 13. 50
6 4R 2637 Ao 4] 5,300 + 2,350 4 | Riv 49. 82
6 4R EE637 02—V A7 U — | FixE 750 910 4| - 2.73
6 4R 22637 n—)L A7 ) — | FixaR 390 910 2| - 0.71
6 TR =E635 NL—7 (i) [# 6,000 - 2,250 1| Kl 13. 50
6 TR 2635 Ao 4] 5,300 + 2,350 2 | Ki 24. 91
6 TR 635 Ay va 4] 4,900 -+ 2,350 2 | KA 23.03
6 TR 28635 FL— 4] 1,400 - 1,800 1| KA 2.52
6 TR 22635 FL— 1Y) 1,100 - 1,800 1| KA 1.98
6 TIR=8635 a—/L A7 J—|fix%& 750 910 21 - 1.37
6 TR 635 n—/)LA 7 ) — B FFix 390 910 2| - 0.71
6 TR =635 NL—7" () |& 6,000 - 2,250 1| K 13. 50
6 TR 635 Ay va 4] 5,300 - 2,350 2 | KA 24.91
6 TR =635 Ao 4] 4,500 - 2,350 ISl 10. 58
6 TR EE635 02—V AT U — | FixE 750 910 2| - 1.37
6 TR 28635 n—)L A7 ) — | FixaR 390 910 2| - 0.71
6 4R ZE634 NL—7" (i) [# 6,000 - 2,250 1| Kl 13. 50
6 4K 2634 Ao 4] 5,300 + 2,350 4 | Kiv 49. 82
6 4R EE634 02—V AT U — | FixE 750 910 2| - 1.37
6 AR 22634 n—)L A7 ) — | FixaR 390 910 2| - 0.71
6 #2633 NL—7" (i) [# 3,000 -+ 2,250 1| K 6. 75




i)

B2 Y Tk

W& =4 kg T35 pir (T X ) B | TPk T
6 fE=£633 Ao 4] 3,500 - 2,350 1| KA 8.23
6 {E=2632 NL—7 (k) & 3,000 - 2,250 1| Kif 6. 75
6 fE=£632 Ao 4] 3,500 - 2,350 1| KA 8.23
6 fE=2631 NL—7 (k) & 3,000 - 2,250 1| K 6. 75
6 fE=631 Ao 4] 3,500 - 2,350 1| KA 8.23
6 #2630 NL—7" (k) & 3,000 - 2,250 1| K 6. 75
6 fE=£630 Ao 4] 3,700 - 2,350 1| KA 8.70
6 43622 NL—7 (L) [# 6,000 - 2,250 1| Kl 13. 50
6 4R 2622 Ao 4] 5,300 + 2,350 4 | Rir 49. 82
6 4R EE622 02—V A7 — | FixE 750 910 2| - 1.37
6 4PRE2622 n—)L A7 ) — | FixaR 390 910 2| - 0.71
6 43623 NL—7 (L) [# 6,000 - 2,250 1| Kl 13. 50
6 4R 2623 Ao 4] 5,300 + 2,350 4 | Riv 49. 82
6 4R EE623 02—V AT — | FixE 750 910 2| - 1.37
6 4PRE2623 n—)L A7 ) — | FixER 390 910 2| - 0.71
6 4R 3629 NL—7 (L) [# 6,000 - 2,250 1| Kl 13. 50
6 4K 22629 Ao 4] 5,300 + 2,350 4 | Riv 49. 82
6 4R 22629 02—V A7 U — | FixE 750 910 2| - 1.37
6 4PRE2629 n—)L A7 ) — | FixaR 390 910 2| - 0.71
6 4REE628 NL—7 (L) [# 6,000 - 2,250 1| Kl 13. 50
6 4K 22628 Ao 4] 5,300 + 2,350 4 | Riv 49. 82
6 4R 22628 02—V A7 U — | FixE 750 910 2| - 1.37
6 4PRE2628 n—)L A7 ) — | ixa 390 910 2| - 0.71
6 128627 NL—7 (L) [# 3,000 -+ 2,250 1| Kl 6. 75
6 BE1-2£627 Ao 4] 1,900 -+ 2,350 1| KA 4. 47
6 R 152626 NL—7 (L) |[# 3,000 -+ 2,250 1| Kl 6. 75
6 £ 122626 Ao 4] 1,900 -+ 2,350 1| KA 4. 47
6 128625 NL—7 (L) [# 3,000 -+ 2,250 1| Kl 6. 75
6 B 122625 Ao 4] 1,900 -+ 2,350 1| KA 4. 47
6 122624 NL—7 (L) |[# 3,000 -+ 2,250 1| Kl 6. 75
6 B 122624 Ao 4] 1,900 -+ 2,350 1| KA 4. 47
6 158621 NL—7 (L) [# 3,000 -+ 2,250 1| Kl 6. 75
6 BE1-2£621 Ao 4] 1,900 -+ 2,350 1| KA 4. 47
6 122644 NL—7 (L) [# 2,500 -+ 2,250 1| Kl 5.63
6 B 122644 Ao 4] 1,900 -+ 2,350 1| KA 4. 47
6 R 1-52643 NL—7 (L) [# 2,500 -+ 2,250 1| Kl 5.63
6 k728643 KNL—7 () [& 500 - 2,250 1| KA 1.13
6 FE7-25643 Ay 18] 1,900 - 2,350 1| R~ 4,47
6 RE1-2£642 KL—7 () [& 4,000 - 2,250 1| Kl 9.00
6 FE7-25642 Ay 18] 1,900 - 2,350 1| R~ 4,47
6 #2641 NL—7" () |& 2,200 - 2,250 1| R 4.95
6 E=2641 NL—7 (k) & 400 - 2,250 1| KA 0. 90
6 fE=641 Ao 4] 3,500 - 2,350 1| KA 8.23
6 fE =641 02—V AT U — | FixE 750 910 2| - 1.37




i)

B2 Y Tk

W& =4 kg Bt 5 i (T X ) B | TPk T FH

6 E=2640 NL—7" () |& 4,000 - 2,250 1| R 9.00
6 #2640 Ay iR 3,500 - 2,350 NN 8.23
6 fE=£640 0=V A7 J— | FixE 750 910 4| - 2.73
6 #2639 NL—7 (k) & 2,700 - 2,250 1| K 6. 08
6 =639 Ao 4] 3,500 - 2,350 1| KA 8.23
6 {22639 n—/L A7 — |fixE 750 910 2| - 1.37
6 L= Awyia 191 2,000 - 2,350 1| KA 4,70
6 i A = Avya 1Y) 3,500 - 2,350 1| Rh 8.23
6 P NL—7 (DR |& 3,400 - 2,150 1| Kl 7.31
6 R L—2 7= 3,400 - 2,140 1| Kl 7.28
6 FLAN—LQ2) | FL—7F () |[#& 2,400 - 2,150 1| R 5.16
B —7 Lt 289 | - | 2,565.10

a—)L A7 Y — 5t 1| - 52. 60




HiF 1

dLEE
s w4 ik S 558 LD | | ok | i
5 4R 2501 FL—7 7= 5, 400 2, 150 1| R 11.61
5 4R EE501 Ayva -4 3, 800 2, 300 2 | KA 17. 48
5 4R =501 Ay Ta 1) 2, 500 2, 300 4 | R 23. 00
5 4R EE501 Aya 141 5,300 . 2,300 2 | KA 24. 38
5 4R 2501 72— L A7 U —2 JR=E N 690 . 1,100 2| - 1.52
5 4R 2501 72—V A7 J— | A 390 . 1,100 21 - 0. 86
5 4R 3502 KL —7 7= 5, 400 2, 150 1| K 11.61
5 4R 9502 Ayva 141 3, 800 2, 300 2 | KA 17. 48
5 4R =502 Ay o 1) 2, 500 2, 300 4 | R 23. 00
5 4R 9502 Ayva -4 5,300 . 2,300 2 | KA 24. 38
5 4R 3502 12—V A7 U —2 JRE N 690 . 1,100 2| - 1.52
5 4R 2502 72—V A7 J— | 390 . 1,100 21 - 0. 86
5 2PR 28503 KL —7 7= 2, 700 2,150 INIPNL] 5.81
5 2K 9503 Ayva 141 2, 500 2, 300 2 | KA 11. 50
5 2R 58503 Ay Ta 1) 5, 300 2, 300 2 | R 24. 38
5 2K 2503 2—/L A7 Y —2 JEENM 690 . 1,100 2| - 1.52
5 2K 28504 KL—7 7= 2, 700 2,150 INIPNL] 5.81
5 2K %504 Ayva 141 2, 500 2, 300 2 | KA 11. 50
5 2K 58504 Ay Ta 1) 5,300 . 2,300 2 | R 24. 38
5 2K 2504 2—/L A7 Y —2 JEENM 690 . 1,100 2| - 1.52
5 4R 2505 FL—7 7= 5, 400 2, 150 1| R 11.61
5 4R 9505 Ayva 141 3, 800 2, 300 2 | KA 17. 48
5 4R =505 Ay Ta 1) 2, 500 2, 300 4 | R 23. 00
5 4R 9505 Ayva 141 5,300 . 2,300 2 | KA 24. 38
5 4R 2505 0—/L A7 ) — | T 390 . 1,100 2| - 0. 86
5 4R =506 KL —7 = 5, 400 2,150 INIPNI] 11.61
5 4R 58506 Ay va 1) 3, 800 2, 300 2 | R 17. 48
5 4R 3506 Ayva 141 2, 500 2, 300 4 | R 23. 00
5 4R 58506 Ay o 1) 5, 300 2, 300 2 | R 24. 38
5 4R 2506 27—/ A7 J—> |5 T 390 . 1,100 1| - 0.43
5 2R =507 KL—7 7= 2, 700 2,150 INIPNL] 5.81
5 2R EE507 Ayva 141 2, 500 2, 300 2 | KA 11. 50
5 2R =507 Ay o 1) 5, 300 2, 300 2 | R 24. 38
5 E=£508 KL —7 = 2, 700 2,150 INIPNI] 5.81
5 =509 FL—7 7= 2, 700 2, 150 1| Kl 5.81
5 ff=£510 KL —7 = 2, 700 2,150 INIPNI] 5.81
5 fE=E511 FL—7 7= 2, 700 2, 150 1| Kl 5.81
5 R = vy U— 147 2, 000 2, 000 2 | KA 8. 00




HiF 1

dLEE
s w4 ik S 558 LD | | ok | i
5 b A Ty U — Y] 1, 000 1, 800 1| KK 1. 80
5 FLAN—h |lg—n2r ) —2 |25 950 2, 000 2| - 3. 80
5 FLAN—A |a— L RT Y — |5 1, 470 2, 000 3| - 8.82
4 2PR =401 KL —7 = 2, 700 2, 150 INIPN] 5.81
4 2K 58401 Ay Ta 1) 2, 500 2, 300 2 | R 11. 50
4 2PREE401 Aya 141 5, 300 2, 300 2 | KA 24. 38
4 2PR 3401 12—V A7 U —2 JR=E N 690 1, 100 2| - 1.52
4 2R =E402 KL —7 = 2, 700 2,150 INIPNI] 5.81
4 2R 58402 Ay o 1) 2, 500 2, 300 2 | R 11. 50
4 2R 402 Ayva -4 5, 300 2, 300 2 | KA 24. 38
4 2R 3402 12—V A7 U —2 JRE N 690 1, 100 4| - 3. 04
4 20K =E403 KL —7 = 2, 700 2, 150 INIPN] 5.81
4 2R 58403 Ay Ta 1) 2, 500 2, 300 2 | R 11. 50
4 2R 9403 Ayva 141 5, 300 2, 300 2 | KA 24. 38
4 2R %403 12—V A7 U —2 IJR=ENM 690 1, 100 4| - 3. 04
4 4R =404 KL —7 = 5, 400 2,150 INIPNI] 11.61
4 4R 58404 Ay o 1) 3, 800 2, 300 2 | R 17. 48
4 4R 3404 Ayva 141 2, 500 2, 300 4 | R 23. 00
4 4R 58404 Ay Ta 1) 5, 300 2, 300 2 | R 24. 38
4 4R 2404 2—/L A7 Y —2 JEENM 690 1, 100 2| - 1.52
4 4R 3404 0—/L A7 ) — | T 390 1, 100 2| - 0. 86
4 4R =2 405 KL —7 = 5, 400 2,150 INIPNI] 11.61
4 4R 58405 Ay Ta 1) 3, 800 2, 300 2 | R 17. 48
4 4R 9405 Ayva 141 2, 500 2, 300 4 | R 23. 00
4 4R 28405 Ay o 1) 5, 300 2, 300 2 | R 24. 38
4 4R 58405 27—/ A7 —> |5 T 390 1, 100 2| - 0. 86
4 4R 2406 KL —7 7= 5, 400 2, 150 1| K 11.61
4 4R 32406 Ayva 141 3, 800 2, 300 2 | KA 17. 48
4 4R 52406 Ay o 1) 2, 500 2, 300 4 | R 23. 00
4 4R 32406 Ayva 141 5, 300 2, 300 2 | KA 24. 38
4 4R 3406 0—/L A7 ) — | T 390 1, 100 1| - 0.43
4 2PR =B 407 KL —7 = 2, 700 2,150 INIPNI] 5.81
4 2R =407 Ay o 1) 2, 500 2, 300 2 | R 11. 50
4 2R 407 Ayva 141 5, 300 2, 300 2 | KA 24. 38
4 2PK 28408 KL—7 7= 2, 700 2,150 INIPNL] 5.81
4 2K 9408 Ayva 141 2, 500 2, 300 2 | KA 11. 50
4 2K 58408 Ay o 1) 5, 300 2, 300 2 | R 24. 38
4 1 =£409 KL —7 = 2, 700 2,150 INIPNI] 5.81
4 {22409 FL— AH 2, 300 1, 850 1| XA 4,26
4 528409 72—V A7 Y —> [JHENH 1,840 1, 100 1| - 2.02
4 fE=E410 FL—7 7= 2, 700 2, 150 INPN] 5.81
4 fE=8410 2—/L A7 Y —2 JEENM 1,840 1, 100 2| - 4. 05
4 fE=E411 FL—7 7= 2, 700 2, 150 INPN] 5.81




HiF 1

L e
s w4 ik S 558 LD | | ok | i

4 fE=8411 FL— AH 2, 300 1, 850 1| XA 4,26
4 fE==411 2—/L A7 Y —2 |JEENM 1, 840 1, 100 2| - 4. 05
4 E=E412 FL—7 7= 2, 700 2, 150 1| Kl 5.81
4 =412 L= An 2, 300 1, 850 I 4. 26
4 fE==412 72— L A7 U —2 JR=E N 1, 840 1, 100 2| - 4. 05
4 ff=£413 KL —7 = 2, 700 2,150 INIPN] 5.81
4 fE=2413 12—V A7 U —2 JR=E N 1, 840 1, 100 2| - 4. 05
4 ff=£414 KL —7 = 2, 700 2,150 INIPNI] 5.81
4 fE==414 02—V A7 U —2 JR=E N 1, 840 1, 100 1| - 2.02
4 FLAN—h |lg—n2zxr)—2 |25 950 2, 000 2| - 3. 80
4 Tl AN—h |lg— A7 Y — |5 1, 470 2, 000 3| - 8. 82
4 ne Ty U— H-57 2, 500 2,100 1| X~ 5.25
4 e T U— (an) 1, 500 2,220 1| X~k 3.33
4 -G ol N % T U— -4 1, 000 1, 800 1| KA 1.80
2 L= Ay Ta AH 2, 200 2, 500 1| KRR 5. 50
2 A= Awa f1:97 1,700 2,150 1| KA 3. 66
2 L= Ay a 4] 1, 400 2,150 1| XA 3.01
2 A= Awa -4 2, 000 2,150 1| RA 4. 30
—7 &t 126 | - 976. 34

n—)L A7) — 52 | - 65. 84




BF 1

53k

bt 4 e et | O e k|
1 A=At = AT 12, 000 1, 350 1| K| 16.20
1 ek ([ Avyia = 2,200 2,300 5 | KA | 25.30
1 Rk ([ Avia AH 2, 800 2, 300 1| R 6. 44
1 ek ([ Avyia = 2, 600 2,300 1 | KA 5.98
1 AL = Ay Ta 1) 3, 900 2, 300 1| R 8. 97
1 Rl = Awa 181 4,100 2, 300 NS 9.43
1 AL = Ay Ta 1) 4, 800 2, 300 1| KA | 11.04
1 RILTE =5 Awa 147 4, 400 2, 300 2 | KA | 20.24
1 AL = Ay o 1) 3, 000 2, 300 4 | KA | 27.60
1 R E= Ava -4 5, 500 2, 300 2 | KA | 25.30
1 EiRLUES Ay o 1) 3, 000 2, 300 1| R 6. 90
1 EREIES TL— 1 1, 400 1, 450 1| KA 2.03
1 L= Ay Ta 1) 2, 600 2, 300 1| R 5.98
1 A= Ava -4 3, 900 2, 300 NS 8.97
1 AR Avva (Rl 5, 500 2, 300 1| XAF| 12.65
1 TR FR R Ao ans| 3, 900 2, 300 1 [ Rh| 8.97
1 AR Avva (Rl 2, 300 2, 140 1 [ Rh| 4.92
1 TR R R Ay ya H-] 2,900 2, 000 1 | KA 5. 80
1 AR Avva (Rl 4, 300 2, 300 1 [ Rh| 9.89
1 Ta—krH— |TFL—r AR 1,700 1, 900 5 | XK~k | 16.15
1 Ta—krH— |Ava 1) 3, 000 1,700 1| R 5.10
1 N L L= 1:47) 1, 900 1, 600 1 | KA 3.04
1 L Avva (AR3)] 2, 200 2,350 [ 16 | K| 82.72
1 PERE TL— 147 2, 000 1, 900 2 | KA 7. 60
1 X7 AE RL—7 AR 3, 000 1, 850 1| XA 5.55
2 wmgte 22— |RL—7 N 1, 300 1, 800 1 | KA 2.34
2 L= Ay va 1) 3, 800 2, 300 1| R 8. 74
2 IFACTFIESR (A v va ) 4, 100 2, 350 3| KA | 28.91
2 KA TFRHERE (A v ia (R3] 3,900 2, 350 2 | XA| 18.33
2 ZELE (Z4E3,4) |[Avva ) 2,200 2, 350 4 | KA | 20.68
2 PEE (Z4510) | KLr—7 A 1, 600 1, 850 1| XA 2.96
H—7 Ut 66 | - | 424.73

72—/ A7 J—F 0| - 0. 00




IE-31

T Dty

bt 4, 4 B 58757 LD s e [k | i
3 ST 5] 28 RL—7 Bl 1,500 - 900 2 | Rh| 2.70
2 HRXIRE (Avia 4] 3,200 - 1,850 1| KA 5.92
2 HERXIRE (A vva ans| 2,400 - 1,850 1| RA| 444
2 Unel=E ([FLr—r 4] 4,400 - 1, 900 1 | KA 8.36
2 Unev=E [FL—r 1Y) 3,800 - 2,300 1| Rh 8. 74
2 UneU=E ([FL—r 4] 2,600 -+ 2,300 1 | KA 5.98
2 UNEU=RE (o= zx7)—r |& 1,030 -+ 1,350 1| - 1.39
2 IR FL—7 () |& 1,800 - 1,850 6 | Kh| 19.98
2 A NL—7 (R & 2,100 - 1,850 3| KA 11.66
2 [R(EE= FL—7" GEOR)  |& 2,500 - 1,900 9 | Kili| 42.75
2 RILTF4TE|IFL—7 () |& 2,500 - 1,900 1| K| 4.75
1 TTREKE [(Avia 191 1,700 - 1,700 6 | KA | 17.34
1 TIHENRE |(Avva ] 1,400 - 2,350 L[ XA| 3.29
1 TLE FL—7 () |& 2,900 - 1,900 1| Kl 5.51
1 TL=E NL—7 (R & 2,800 -+ 2,650 1| KA 7.42
1 L= KL—7 -4 4,800 -+ 2,460 1| K| 11.81
B —7 Ut 37 160. 65

n—)LAJ ) —Ft 1 1.39




BIFE 2

FRBAD—T>
sk w4 ik B 85757 L2 e | sk | e
b3k 1 B OB R TL— S} ) 2, 200 2, 380 1| KA 5. 24
Hhk 1 BE TR R NL—7 () |8l 1, 400 680 4 | RFr 3.81
k1B OB R FLU—7 () |BIRE 1, 000 680 1| KA 0. 68
sk 1B | iRl s | R L—7 GEBR) |& 2, 700 1, 650 2 | Kifi 8.91
Akl 1 B AFLDEE |Avia H:97] 1, 300 2, 300 1| XA 2. 99
g3k 1 B AMLDEE |Avia -] 4, 200 2,300 1| R 9. 66
Ahsk 1 B DEMBREE |Avia H-97] 2,600 2, 300 2| KA | 11.96
Al 1 Bk DENBEE |Avia il 3, 700 2, 300 2| Kiy | 17.02
Ahsk 1 B DEMBREE |Avia H-97] 1,100 2, 300 2 | Xiy 5. 06
Al 1 Bk DEMET |vryU— il 1,700 1,950 1| KA 3.32
A3k 1 B PEEA) |Avva H-97] 2,200 2, 350 2 | KA | 10.34
Sk 2 BE 25558 (8) I ek A 1, 400 2, 680 1| KA 3.75
Sk 2 BE P25 (8) I AR 1,700 2, 680 1| XA 4.56
Fh 3k 2 B FE0) I 4 4] 5, 200 2, 680 1| Rfr| 13.94
43k 2 g FEEAG) I ek ) 2, 600 2, 680 1| KA 6. 97
Hh 3k 2 BE 258252(9) I ek A 1, 400 2, 680 2 | KA 7.50
A3k 2 g PERE(10)  |WEEE AR 1, 400 2, 680 1| XA 3.75
b3k 2 s PE=(10) KRR 4] 5, 700 2, 680 1| KA | 15.28
ALfE 2 BE 1R E I AR 3, 900 1, 800 1| XA 7.02
JLfE 2 B TR s ek 7 3, 300 1, 800 1| KA 5. 94
et 3 p 2PREE301 FL—7 = 2,700 2, 150 1| K 5.81
dbfiE 3 B 2R =301 Avia 147 2, 500 2, 300 2| K| 11.50
Aefig 3 pE 2P =E301 Ava ane) 5, 300 2,300 2| Xfy| 24.38
Ak fig 3 fE 20K 5301 n—/)L A7 U —>r |JFENMA 690 1,100 21 - 1.52
et 3 p 2PREE302 FL—7 = 2,700 2, 150 1| K 5.81
dbfiE 3 B 2R Z 302 Avia 147 2, 500 2, 300 2| K| 11.50
et 3 p 2PK 5302 Ay va -4 5, 300 2, 300 2| R | 24.38
Abfig 3 fE 2R 5302 n—L A7 U —>r |JFENMA 690 1,100 41 - 3.04
et 3 p 4PREE303 FL—7 = 5, 400 2, 150 1| X | 11.61
dbfiE 3 B 4R =303 Avia 147 3, 800 2, 300 2| Rfy | 17.48
et 3 4R 3303 Ay va -4 2, 500 2, 300 4| R | 23.00
dbfiE 3 B 4R =303 Avia 147 5, 300 2, 300 2| Riy | 24.38
e 3 4R 3303 n—/L A7 Y —> |FFENMA 690 1, 100 41 - 3. 04
Abfig 3 fE 4R E303 n—/L A7 ) —> R 390 -+ 1,100 3| - 1.29
et 3 p 4PREE304 FL—7 = 5, 400 2, 150 1| X | 11.61
dbfiE 3 B 4R =304 Avia 147 3, 800 2, 300 2| Rfy | 17.48
et 3 p 4R 3304 Ay va -4 2, 500 2, 300 4| K| 23.00
dbfiE 3 B 4R =304 Avia 147 5, 300 2, 300 2| Riy | 24.38
e 3 4R 3304 n—/L A7 Y —> |FFENMA 690 1, 100 41 - 3. 04
Ak fig 3 fE 4R E304 n—/L A7 ) —> R A 390 -+ 1,100 3| - 1.29
et 3 p 4R 58305 FL—7 = 5, 400 2, 150 1| X | 11.61
dbfiE 3 B 4PR =305 Avia 147 3, 800 2, 300 2| Rfy | 17.48
et 3 p 4R 3305 Ay va -4 2, 500 2, 300 4| R | 23.00
dbfiE 3 B 4PR =305 Avia 147 5, 300 2, 300 2| Riy | 24.38
v 3 4R 3305 n—/L A7 Y —> |JFENMA 690 1, 100 41 - 3. 04
Ak fig 3 fE 4R E305 n—/L A7 ) —> R 390 -+ 1,100 3| - 1.29
et 3 p 4R 58306 FL—7 = 5, 400 2, 150 1| X | 11.61




Aefig 3 pE 4R =E306 Ava ane) 3, 800 2,300 2| Rfy| 17.48
dbfiE 3 B AR =306 Az 147 2, 500 2, 300 4 | RKiy | 23.00
et 3 p 4R 3306 Ay va -4 5, 300 2, 300 2| RA | 24.38
A fig 3 fE 4R E306 n—/L A7 U —>r |JFENMA 690 1,100 21 - 1.52
et 3 4R 58306 0—L A7 J—> | 390 1, 100 2 - 0. 86
AefiE 3 B 2PREE 307 rFL—7 7 2,700 2,150 1| XKl 5.81
et 3 p 2PK 307 Ay va -4 2, 500 2, 300 2| R | 11.50
dbfiE 3 B 2R =307 Avia 147 5, 300 2, 300 2| Riy | 24.38
Abfi 3 fE 52308 FL—7 = 2,700 2,150 1| Xl 5.81
bt 3 fE #2308 FL— -] 3, 300 1, 850 1| KA 6.11
JLAF 3 B fE=2308 B— VA7 U—r [HENM 1,990 1,100 1| - 2.19
et 3 #2309 rFL—7 = 2,700 2,150 1| Kifj 5.81
Abfi 3 fE fH=2309 TL— H-97] 3, 300 1, 850 1| XA 6.11
Abfig 3 fE #2309 o=/ 27 U—r [JEENA 1,990 1,100 2| - 4.38
JcfE 3 fE=8311, 312 |7FL—u H-97] 3, 300 1, 850 2| Riy | 12.21
vt 3 p HCU rFL—7 7= 5, 400 2,150 2 | R | 23.22
e 3 p HCU n—/V A7 Y —> |JFENMA 1,990 1, 100 1 - 2.19
AefiE 3 B HCU Ava H:41 3, 600 2, 300 1| XA 8.28
Jefig 3 pE HCU Ava ane) 5, 800 2,300 2| Xf | 26.68
AefiE 3 B HCU Ava H:41 6, 200 2, 300 1| Xi| 14.26
e 3 Ve =E FL—7 = 2,700 2, 150 1| K 5.81
AefiE 3 B Tl AN—b |m—n27 Y —1 (% 950 2, 000 2 - 3.80
e 3 T AN—h |m—n27 Y —1 |2 1,470 2, 000 3 - 8.82
et 3 Byl FL— -] 1, 000 1,100 1| R 1.10

H—F 134 - |735.36




